multiplo (m.c.m.)

6; 8

9; 15
10; 16
13; 26
12; 20
18; 30
21; 24
22;27
24; 33
25; 31
28; 35
39;52
48; 58
49; 60
50; 65
60; 70
66; 77
82; 94
98; 100
102; 104
105; 120
125; 150
131;175
145; 158
155; 165
164; 178
185; 370
190; 195
225; 250
240; 360

© ©® N o 1o W N

W NN N DN DNDNDNDNDNDDNR R R R R R R R R R
S O ® N o U E WN P S VL ® N ;A WN PO

www.matematicaoggi.it

Esercizi su Massimo Comune Divisore (M.C.D.) e minimo comune

[M.C.D. =2; m.cm. = 24|
[M.C.D. = 3; m.cm. = 45]
[M.C.D. = 2; m.cm. = 80]
[M.C.D. = 13; m.cm. = 26]
[M.C.D. = 4; m.cm. = 60]
[M.C.D. = 6; m.cm. =90]
[M.C.D. = 3; m.cm. = 168]
[M.C.D. = 1; m.cm. = 594]
[M.C.D. = 3; m.ccm. = 264]
[M.C.D.=1; m.c.m. = 775]
[M.C.D. =7; m.c.m. = 140]
[M.C.D.=13; m.cm. = 156]
[M.C.D. = 2; m.cm. = 1392]
[M.C.D. = 1; m.cm. = 2940]
[M.C.D.=5; m.c.m. = 650]
[M.C.D. = 10; m.c.m. = 420]
[M.CD.=11; m.c.m. = 462]
[M.C.D. = 2; m.c.m. = 3854]
[M.C.D. = 2; m.cm. = 4900]
[M.C.D. = 2; m.c.m. = 5304]
[M.C.D. = 15; m.c.m. = 840]
[M.C.D. = 25; m.c.m. = 750]
[M.C.D. = 1; m.cm. = 22925]
[M.C.D. =1; m.cm. = 22910]
[M.C.D.=5; m.cm. =5115]
[M.C.D. = 2; m.cm. = 14596]
[M.C.D. = 185; m.c.m. = 370]
[M.C.D. =5; m.c.m. = 7410]
[M.C.D. = 25; m.c.m. = 2250]
[M.C.D. =120; m.c.m. = 720]



31.
32.
33.
34.
35.
36.
37.
38.
39.
40.
41.
42.
43.
44,
45.
46.
47.
48.
49,
50.

www.matematicaoggi.it

243; 346
280; 420
300; 400
305; 465
420; 510
445; 625
498; 748
500; 630
520; 820
560; 875
625;900
710; 905
745;975
852;990
975; 1275
1200; 1320
1550; 3100
1755; 3200
2475; 3675
3600; 4800

[M.C.D. =1; m.cm. = 84078] |
[M.C.D. = 140; m.c.m. = 840]
[M.C.D. =100; m.c.m. = 1200]
[M.C.D. = 5; m.c.m. = 28365]
[M.C.D. = 30; m.c.m. = 7140]
[M.C.D. = 5; m.cm. = 55625]
[M.C.D. = 2; m.cm. = 186252]
[M.C.D. = 10; m.c.m. = 31500]
[M.C.D. = 20; m.c.m. = 21320]
[M.C.D. = 35; m.c.m. = 14000]
[M.C.D. = 25; m.c.m. = 22500]
[M.C.D. = 5; m.cm. = 128510]
[M.C.D.=5; m.c.m. = 145275]
[M.C.D. = 6; m.cm. = 140580]
[M.C.D.=75; m.cm. = 16575]
[M.C.D. =120; m.c.m. = 13200]
[M.C.D. =1550; m.c.m. = 3100]
[M.C.D. =5; m.cm. =1123200]
[M.C.D. =75; m.cm. = 121275]
[M.C.D. = 1200; m.c.m. = 14400]




